

Missouri Department of Transportation Contractor's Pay Estimate Summary

Pay Estimate Created Date: December 15, 2022

Progress Estimate Number	Contract ID	220318-H03	Pay Period Start	November 16, 2022	Original Contract Amount	: \$395,799.79
8	Prime Contractor	Penzel Construction Company, Inc.	Pay Period End	December 15, 2022	Net Change Order Amount Current Contract Amount	\$0.00 \$395,799.79

Onimin al Caman	Indian Data	Cumant Campletian Data	Astual Commission Data	0/ of Commont Commont Amon						
December 19, 2022	Reviewed and Approved at the Central Office Controllers Office Level by									
December 15, 2022		Reviewed and Approved (and should be considered Draft) at the Resident Engineer Level by								
December 15, 2022		Generated and A	Approved (and should be considered	d Draft) at the Project Office Level by	thomar1					
Approval Date					By User					

Original Completion Date	Current Completion Date	Actual Completion Date	% of Current Contract Amount Complete
November 1, 2022	November 1, 2022		95.58%

	Contract Informational Dates											
Date Description	Original Completion Date	Current Completion Date	No Milestones Exist for Contract									
Acceptance Date												
Awarded Date	April 6, 2022	April 6, 2022										
Letting Date	March 18, 2022	March 18, 2022										
Notice to Proceed Date	May 10, 2022	May 10, 2022										
Open to Traffic Date												
Work Began Date												

Contract Total Pa	ny For Estimate No. 8				
		This Estimate	Previous	To Date	
220318-H03					
	Total Posted Items Pay	\$11,864.07	\$366,461.15	\$378,325.22	
	Gross Item Adjustments	\$0.00	\$2,333.94	\$2,333.94	
	Incentive	\$0.00	\$0.00	\$0.00	
	Disincentive	\$0.00	\$0.00	\$0.00	
	Liquidated Damage	\$0.00	\$0.00	\$0.00	
	Other Contract Adjustments	\$0.00	\$0.00	\$0.00	
	•		\$368,795.09	\$380,659.16	
Contract Total Pa	yable This Estimate:	\$11,864.07			

Items Paid This Estimate Period

Project Number	Line Number	Item Code	Item Description	Unit	Unit Price	Current Installed Qty	Current Installed Amount
J9S3396	0070	6113020	FURNISHING TYPE 2 ROCK BLANKET	CUYD	\$40.160	181.7	\$7,297.03
	0800	6113040	PLACING TYPE 2 ROCK BLANKET	CUYD	\$20.534	181.7	\$3,730.96
	0180	6240103A	PERMANENT EROSION CONTROL GEOTEXTILE	SQYD	\$3.112	268.7	\$836.08
Project J9S339	6 - Total						\$11,864.07
Overall - Total							\$11,864.07

Contract Adjustments This Estimate

No Contract Adjustments Exist on Contract

	,	ments This Estimate						
Project Number	Line No.	Item Description	Adjustment Type	Other Item Adjustment Type	Comments	Adjustment Quantity	Line Item Adjustment Unit Price	Adjustment amount
J9S3396	0280	SLAB ON STEEL	Material			-181.45	\$440.04	(\$79,846.08)
	0280	SLAB ON STEEL	Material		This adjustment offsets the original system- generated Material Payment Estimate Item Adjustment (0001) due to user thomar1 overridding Payment Estimate Exception 2 on the current Payment Estimate.	181.45	\$440.04	\$79,846.08
	0290	TYPE H BARRIER	Material			-129	\$135.56	(\$17,486.64)

Revision 4/1/2020 Page 1 of 11



Missouri Department of Transportation Contractor's Pay Estimate Summary

Pay Estimate Created Date: December 15, 2022

	Progr	ess Estimate Number	Contract ID Prime Contractor	220318-H0 Penzel Co Inc.	03 nstruction Co	mpany,	Pay Period Start Pay Period End	December 15, 2022	Net Change (Amount	Order	t \$395,799.79 \$0.00 t \$395,799.79
Project Number	Line No.	Item De	escription	Adjustment Type	Other Item Adjustment Type		Comments			Line Item Adjustment Unit Price	Adjustment amount
J9S3396	0290	TY	PE H BARRIER	Material		This adjustment offsets the original system- generated Material Payment Estimate Item Adjustment (0002) due to user thomar1 overridding Payment Estimate Exception 3 on the current Payment Estimate.			\$135.56	\$17,486.64	
Total											\$0.00

Revision 4/1/2020 Page 2 of 11



Missouri Department of Transportation Contractor's Pay Estimate Summary Project Details

	Contract Project Information											
Project Number	Federal Proj. Number	Project Description	Route	County		Location of Work						
J9S3396	FAS S703(13)	Bridge rehabilitation	WW	STODDARD	over Drainage Ditch 26	er Drainage Ditch 26, Approx. 2.9 miles South of Route J						
Totals by J	Job Numbe	ers										
J9S3396		d Item Pay s Item Adjustm		Item Pay	This Estimate \$11,864.07 \$0.00 \$11,864.07	Previous \$366,461.15 \$2,333.94 \$368,795.09	To Date \$378,325.22 \$2,333.94 \$380,659.16					
	Liquid	tive centive dated Damages Contract Adju			\$0.00 \$0.00 \$0.00 \$0.00	\$0.00 \$0.00 \$0.00 \$0.00	\$0.00 \$0.00 \$0.00 \$0.00					

Revision 4/1/2020 Page 3 of 11



Missouri Department of Transportation Contractor's Pay Estimate Summary Exceptions

Exceptions (Discrepancies) This Estimate Period

Exceptions / Discrepencies	Explanation	Entered By	Status
Estimate Exception Type: Insufficient Materials: Project J9S3396, Item 2064000, Project Item Line Number 0010, Material Set 206400096, Material 1009G3DRLD - Agg for Drainage Gr3 Limestone/Dolomite, Acceptance Action Generic 1009G3DRLD is insufficient.	Materials looking into material report.	thomar1	Overridden
Estimate Exception Type: Insufficient Materials: Project J9S3396, Item 7034212, Project Item Line Number 0280, Material Set 703421296, Material 0705DPRCPS30 - Prestress Conc Deck Panel 3" (75 mm), Acceptance Action Generic 0705DPRCPS30 is insufficient.	Materials looking into material reports.	thomar1	Overridden
Estimate Exception Type: Insufficient Materials: Project J9S3396, Item 7034216, Project Item Line Number 0290, Material Set 703421696, Material 1057JMJCSS - Silicon Sealant for Sawed/Formed Jnts @, Acceptance Action Generic 1057JMJCSS is insufficient.	Materials looking into PAL report.	thomar1	Overridden
Estimate Exception Type: Insufficient Materials: Project J9S3396, Item 7034216, Project Item Line Number 0290, Material Set 703421696, Material 1055CMMLDST2 - White Pavement-Bridge Dissipating Cure @, Acceptance Action Generic 1055CMMLDST2 is insufficient.	Materials looking into PAL report.	thomar1	Overridden

Revision 4/1/2020 Page 4 of 11



Missouri Department of Transportation Contractor's Pay Estimate Summary Contract Line Items and Total Paid for All Estimates

Total Paid / All Items / All Estimates (Including this Estimate)
Note: Posted Quantities and Values are based on Report Generated date and can differ from the posted amount at the time the Estimate was Generated.

Contract	Project	Category	Line	Item	eport Generated date and can differ from the posted ame	Bid	Net	Total	Unit	Total	Unit Price	Total Value POSTED
lm.CONTRACT	No.		No.	Code		Quantity	Change Order	Current Quantity		Posted Approved Qty		To Date (See report generated date)
20318-H03	J9S3396	0001	0010	2064000	POROUS BACKFILL	54.00	0.00	54.00	CUYD	42.20	\$54.31	\$2,292.03
		0001	0020	2079909	MISC.Modified Linear Grading Class 2	3.20	0.00	3.20	STA	3.20	\$1,800.26	\$5,760.84
		0001	0030	3040506	TYPE 5 AGGREGATE FOR BASE (6 IN. THICK)	267.00	0.00	267.00	SQYD	267.00	\$10.06	\$2,686.55
		0001	0040	4011209	BITUMINOUS PAVEMENT MIXTURE PG64-22, (BP-1)	52.10	0.00	52.10	TONS	52.10	\$124.80	\$6,502.08
		0001	0050	4019905	MISC.OPTIONAL PAVEMENT	266.70	0.00	266.70	SQYD	266.70	\$84.73	\$22,597.4
		0001	0060	4071005	TACK COAT	27.00	0.00	27.00	GAL	27.00	\$5.22	\$140.9
		0001	0070	6113020	FURNISHING TYPE 2 ROCK BLANKET	545.00	0.00	545.00	CUYD	545.00	\$40.16	\$21,887.0
		0001	0800	6113040	PLACING TYPE 2 ROCK BLANKET	545.00	0.00	545.00	CUYD	545.00	\$20.53	\$11,190.8
		0001	0090	6161005	CONSTRUCTION SIGNS	134.00	0.00	134.00	SQFT	134.00	\$7.00	\$938.0
		0001	0100	6161008	ADVANCED WARNING RAIL SYSTEM	2.00	0.00	2.00	EA	2.00	\$20.00	\$40.0
		0001	0110	6161030	TYPE III MOVEABLE BARRICADE	10.00	0.00	10.00	EA	10.00	\$135.00	\$1,350.0
		0001	0120	6161098A	CHANGEABLE MESSAGE SIGN WITHOUT COMMUNICATION INTERFACE, CONTRACTOR FURNISHED, CONTRACTOR RETAINED	2.00	0.00	2.00	EA	2.00	\$2,500.00	\$5,000.0
		0001	0130	6173600D	TEMPORARY TRAFFIC BARRIER, CONTRACTOR FURNISHED / RETAINED	50.00	0.00	50.00	LF	0.00	\$23.58	\$0.0
		0001	0140	6181000	MOBILIZATION	1.00	0.00	1.00	LS	1.00	\$33,079.03	\$33,079.0
		0001	0150	6206000C	4 IN. WHITE STANDARD WATERBORNE PAVEMENT MARKING PAINT, TYPE P BEADS	830.00	0.00	830.00	LF	830.00	\$0.50	\$415.0
		0001	0160	6206001C	4 IN. YELLOW STANDARD WATERBORNE PAVEMENT MARKING PAINT, TYPE P BEADS	104.00	0.00	104.00	LF	104.00	\$0.50	\$52.0
		0001	0170	6221001	COLDMILLING BITUMINOUS PAVEMENT FOR REMOVAL OF SURFACING (3 IN. THICK OR LESS)	334.00	0.00	334.00	SQYD	334.00	\$17.89	\$5,975.2
		0001	0180	6240103A	PERMANENT EROSION CONTROL GEOTEXTILE	806.00	0.00	806.00	SQYD	806.00	\$3.11	\$2,507.9
		0001	0190	6274000	CONTRACTOR FURNISHED SURVEYING AND STAKING	1.00	0.00	1.00	LS	1.00	\$1,739.76	\$1,739.7
		0001	0200	8051000A	SEEDING - COOL SEASON GRASSES	1.00	0.00	1.00	ACRE	1.00	\$1,896.75	\$1,896.7
		0001	0210	8061005	ROCK DITCH CHECK	160.00	0.00	160.00	LF	0.00	\$12.10	\$0.0
		0001	0220	8061016	SEDIMENT REMOVAL	19.00	0.00	19.00	CUYD	0.00	\$12.77	\$0.0
		0001	0230	8061019	SILT FENCE	800.00	0.00	800.00	LF	0.00	\$3.16	\$0.0
		0001	0240	8061050	TYPE C BERM	220.00	0.00	220.00	LF	0.00	\$10.29	\$0.0
		0010	0250	6061069	MGS BRIDGE APPROACH TRANSITION SECTION (REGULAR/NO CURB)	4.00	0.00	4.00	EA	4.00	\$3,800.00	\$15,200.0
		0010	0260	6063014	TYPE A CRASHWORTHY END TERMINAL (MASH)	4.00	0.00	4.00	EA	4.00	\$3,250.00	\$13,000.0
		0070	0270	2169901	MISC.REMOVAL OF EXISTING SUPERSTRUCTURE	1.00	0.00	1.00	LS	1.00	\$9,404.49	\$9,404.4
		0070	0280	7034212	SLAB ON STEEL	191.00	0.00	191.00	SQYD	191.00	\$440.04	\$84,048.5
		0070	0290	7034216	TYPE H BARRIER	129.00	0.00	129.00	LF	129.00	\$135.56	\$17,486.6
		0070	0300	7040102	SUBSTRUCTURE REPAIR (UNFORMED)	250.00	0.00	250.00	SQFT	14.00	\$36.79	\$515.0
		0070	0310	7110200	PROTECTIVE COATING - CONCRETE BENTS AND PIERS (EPOXY)	1.00	0.00	1.00	LS	1.00	\$9,000.00	\$9,000.0
		0070	0320	7121111	FABRICATED STRUCTURAL LOW ALLOY STEEL (I-BEAM) A709, GRADE 50	21,210.00	0.00	21,210.00	LB	21,210.00	\$2.94	\$62,338.3
		0070	0330	7123610	SLAB DRAIN	12.00	0.00	12.00	EA	12.00	\$434.60	\$5,215.1
		0070	0340	7129901	MISC.GALVANIZING STRUCTURAL STEEL	1.00	0.00	1.00	LS	1.00	\$26,817.96	\$26,817.9
		0070	0350	7161002	LAMINATED NEOPRENE BEARING PAD	8.00	0.00	8.00	EA	8.00	\$421.76	\$3,374.0
		0070	0360	7162000	LAMINATED NEOPRENE BEARING PAD ASSEMBLY	8.00	0.00	8.00	EA	8.00	\$734.17	\$5,873.3
	Project J	9S3396 - To	otal Valu	e Posted to D	Pate as of Report Generated Date							\$378,325.2
0318-H03 Ove	rall - Total	Value Pos	ted to Da	ite as of Repo	ort Generated Date							\$378,325.2

Revision 4/1/2020 Page 5 of 11



Missouri Department of Transportation Contractor's Pay Estimate Summary Installed Locations of Paid Line Items (This Estimate Only)

The information below this line is supplemental to the Estimate and is provided for confirmation of detail, location and quantity of work.

Project: J9S3396

Line Number	Item Code	Description	DWR Date	DWR Approval Date	Quantity Posted	Units	Location	From Station/ Log Mile	Offset/ Distance	To Station/ Log Mile	Offset/ Distance	Comments
0070	6113020	FURNISHING TYPE 2 ROCK BLANKET	12/7/22	12/7/22	181.70	CUYD	North and South side of the bridge N0433.	154+43		157+57.64		
0800	6113040	PLACING TYPE 2 ROCK BLANKET	12/7/22	12/7/22	181.70	CUYD	North and South side of bridge N0433	154+43		157+57.64		
0180	6240103A	PERMANENT EROSION CONTROL GEOTEXTILE	12/7/22	12/7/22	268.70	SQYD	Lt and Rt side of road and North and South side of the bridge.	154+43		157+57.64		

The information below this line are details for Construction Signs (if applicable).

No Data Available

Revision 4/1/2020 Page 6 of 11



oject	Line	Description	Adjustment Type	Other Adjustment Type	Est. Number	Created Date	Created By	Amount	Remarks
S3396	0030	TYPE 5 AGGREGATE FOR BASE (6 IN. THICK)	Material		5	Oct 17, 2022	SYSTEM	\$2,686.55	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0011) due to user thomar1 overridding Payment Estimate Exception 3 on the current Payment Estimate.
					5	Oct 17, 2022	SYSTEM	(\$2,686.55)	
					6	Nov 2, 2022	SYSTEM	\$2,686.55	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0002) due to user durrov1 overridding Payment Estimate Exception 3 on the current Payment Estimate.
					6	Nov 2, 2022	SYSTEM	(\$2,686.55)	
					7	Nov 15, 2022	SYSTEM	\$2,686.55	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0003) due to user thomar1 overridding Payment Estimate Exception 3 on the current Payment Estimate.
					7	Nov 15, 2022	SYSTEM	(\$2,686.55)	
				- Total				\$0.00	
			Material - To						
			Materiai - 10	tal				\$0.00	
	0030 -	Total						\$0.00	
	0040	BIT. PAVEMENT MIXTURE PG64-22 (BP-1)	Other Item Adjustment	ACAD	7	Nov 15, 2022	thomar1	\$483.62	Thomar1. See Asphalt cement adjustment sheet.
				ACAD - Tot	al			\$483.62	
			Other Item A	.djustment - 1	otal			\$483.62	
			Price FUEL		6	Nov 2, 2022	SYSTEM	\$105.51	Reference Item Price Adjustment Index Adjustment Type applied is FUEL
				- Total				\$105.51	
			Price FUEL -	Total				\$105.51	
	0040	Total						\$589.13	
	0040 -								
	0050	MISC.	Other Item Adjustment	ACAD		Nov 15, 2022	thomar1	\$1,361.60	Thomar1. See Asphalt cement adjustment sheet.
				ACAD - Tota	al			\$1,361.60	
				FUEL		Nov 15, 2022	thomar1	\$383.21	Thomar1. See Price Adjustment for fuel index sheet.
			FUEL - Total					\$383.21	
			Other Item Adjustment - Total					\$1,744.81	
	0050 -	Total						\$1,744.81	
	0070	FURNISHING TYPE 2 ROCK BLANKET	Material		2	Sep 2, 2022	SYSTEM	\$14,590.05	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0001) due to user turnep3 overridding Payment Estimate Exception 1 on the current Payment Estimate.
					2	Sep 2, 2022	SYSTEM	(\$14,590.05)	
					3	Sep 16, 2022	SYSTEM	\$14,590.05	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0005) due to user stottt1 overridding Payment Estimate Exception 1 on the current Payment Estimate.
				3	Sep 16, 2022	SYSTEM	(\$14,590.05)		
				- Total				\$0.00	
			Material - To	tal				\$0.00	
	0070 -	Total						\$0.00	
	0070 -	CONSTRUCTION SIGNS	Material		2	Sep 2, 2022	SYSTEM	\$938.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0002) due to user turnep3 overridding Payment
					2	Sep 2, 2022	SYSTEM	(\$938.00)	Estimate Exception 2 on the current Payment Estimate.
				Total		2022		-60.00	
			- Total					\$0.00	
			Material - To	tal				\$0.00	
	0090 -	Total						\$0.00	
	0100	ADVANCED WARNING RAIL SYSTEM	Material		2	Sep 2, 2022	SYSTEM	\$40.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0003) due to user turnep3 overridding Payment Estimate Exception 3 on the current Payment Estimate.
		SISILIVI			2	Sep 2, 2022	SYSTEM	(\$40.00)	Exemple Loopher of the cultoner aymone Estimate.



Project	Line	Description	Adjustment Type	Other Adjustment Type	Est. Number	Created Date	Created By	Amount	Remarks																			
J9S3396	0100	ADVANCED WARNING RAIL	Material	- Total				\$0.00																				
		SYSTEM	Material - Tot	tal				\$0.00																				
	0100 -	Total						\$0.00																				
	0110	TYPE III MOVEABLE BARRICADE	Material		2	Sep 2, 2022	SYSTEM	\$1,350.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0004) due to user turnep3 overridding Payment Estimate Exception 4 on the current Payment Estimate.																			
					2	Sep 2, 2022	SYSTEM	(\$1,350.00)																				
				- Total				\$0.00																				
			Material - Tot	tal				\$0.00																				
	0110 -	Total						\$0.00																				
	0120	CMS W/O COMMUNICATION INTERFACE, CONT	Material		2	Sep 2, 2022	SYSTEM	\$5,000.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0005) due to user turnep3 overridding Payment Estimate Exception 5 on the current Payment Estimate.																			
		F/			2	Sep 2, 2022	SYSTEM	(\$5,000.00)																				
				- Total				\$0.00																				
			Material - Tot	tal				\$0.00																				
	0120 -	Total						\$0.00																				
	0180	PERMANENT EROSION CONTROL GEOTEXTILE	Material		2	Sep 2, 2022	SYSTEM	\$1,671.85	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0006) due to user turnep3 overridding Payment Estimate Exception 6 on the current Payment Estimate.																			
					2	Sep 2, 2022	SYSTEM	(\$1,671.85)																				
					3	Sep 16, 2022	SYSTEM	\$1,671.85	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0006) due to user stott1 overridding Payment Estimate Exception 2 on the current Payment Estimate.																			
					3	Sep 16, 2022	SYSTEM	(\$1,671.85)																				
				- Total				\$0.00																				
			Material - Total					\$0.00																				
	0180 -	Total						\$0.00																				
	0200	SEEDING - COOL SEASON GRASSES	Material		6	Nov 2, 2022	SYSTEM	\$1,896.75	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0003) due to user durrov1 overridding Payment Estimate Exception 12 on the current Payment Estimate.																			
				6	6	Nov 2, 2022	SYSTEM	(\$1,896.75)																				
				- Total				\$0.00																				
			Material - Total					\$0.00																				
	0200 -	Total						\$0.00																				
	0280	SLAB ON STEEL	Construction Stockpile		4	Oct 3, 2022	SYSTEM	(\$16,386.70)	Payment Estimate Item Adjustment generated Stockpile Transaction																			
						7	Nov 15, 2022	SYSTEM	(\$862.46)	Payment Estimate Item Adjustment generated Stockpile Transaction																		
				- Total				(\$17,249.16)																				
			Construction	on Stockpile - Total				(\$17,249.16)																				
			Construction Stockpile STMI		1	Jun 30, 2022	SYSTEM	\$17,249.16	Payment Estimate Item Adjustment generated Stockpile Transaction																			
			OTIVII	- Total				\$17,249.16																				
			Construction	onstruction Stockpile STMI - Total				\$17,249.16																				
			Material		4	Oct 3, 2022	SYSTEM	\$79,846.08	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0011) due to user thomar1 overridding Payment Estimate Exception 3 on the current Payment Estimate.																			
					4	Oct 3, 2022	SYSTEM	(\$79,846.08)																				
					5	Oct 17, 2022	SYSTEM	\$79,846.08	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0012) due to user thomar1 overridding Payment Estimate Exception 4 on the current Payment Estimate.																			
																									5	Oct 17, 2022	SYSTEM	(\$79,846.08)
					6	Nov 2,	SYSTEM	\$79,846.08	This adjustment offsets the original system-generated Material Payment																			



Project	Line	Description	Adjustment Type	Other Adjustment	Est. Number	Created Date	Created By	Amount	Remarks
			•	Туре					
J9S3396	0280	SLAB ON STEEL	Material			2022			Estimate Item Adjustment (0004) due to user durrov1 overridding Payment Estimate Exception 4 on the current Payment Estimate.
					6	Nov 2, 2022	SYSTEM	(\$79,846.08)	
					7	Nov 15, 2022	SYSTEM	\$84,048.51	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0002) due to user thomar1 overridding Payment Estimate Exception 4 on the current Payment Estimate.
					7	Nov 15, 2022	SYSTEM	(\$84,048.51)	
					8	Dec 15, 2022	SYSTEM	\$79,846.08	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0001) due to user thomar1 overridding Payment Estimate Exception 2 on the current Payment Estimate.
					8	Dec 15, 2022	SYSTEM	(\$79,846.08)	Estimate Exception 2 on the editority ayment Estimate.
				- Total		2022		\$0.00	
			Material - Tot					\$0.00	
	0280 -	Total						\$0.00	
	0290	TYPE H BARRIER	Construction Stockpile		5	Oct 17, 2022	SYSTEM	(\$3,320.24)	Payment Estimate Item Adjustment generated Stockpile Transaction
			otoottp://o	- Total		2022		(\$3,320.24)	
			Construction	Stockpile - 1	Total			(\$3,320.24)	
			Construction Stockpile	uction 1 Jun 30, SYSTEM				\$3,320.24	Payment Estimate Item Adjustment generated Stockpile Transaction
			STMI	- Total		2022		\$3,320.24	
			Construction	Stockpile S	ΓΜΙ - Tota			\$3,320.24	
			Material	al	5	Oct 17, 2022	SYSTEM	\$17,486.64	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0013) due to user thomar1 overridding Payment Estimate Exception 10 on the current Payment Estimate.
					5	Oct 17, 2022	SYSTEM	(\$17,486.64)	
					6	Nov 2, 2022	SYSTEM	\$17,486.64	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0005) due to user durrov1 overridding Payment Estimate Exception 9 on the current Payment Estimate.
					6	Nov 2, 2022	SYSTEM	(\$17,486.64)	
					7	Nov 15, 2022	SYSTEM	\$17,486.64	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0004) due to user thomar1 overridding Payment Estimate Exception 7 on the current Payment Estimate.
					7	Nov 15, 2022	SYSTEM	(\$17,486.64)	
					8	Dec 15, 2022	SYSTEM	\$17,486.64	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0002) due to user thomar1 overridding Payment Estimate Exception 3 on the current Payment Estimate.
					8	Dec 15, 2022	SYSTEM	(\$17,486.64)	
			- Total					\$0.00	
			Material - Tot	tal				\$0.00	
	0290 -	Total						\$0.00	
	0300	SUBSTRUCTURE REPAIR (UNFORMED)		aterial - Total	2	Sep 2, 2022	SYSTEM	\$4,598.89	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0007) due to user turnep3 overridding Payment Estimate Exception 7 on the current Payment Estimate.
					2	Sep 2, 2022	SYSTEM	(\$4,598.89)	
					3	Sep 16, 2022	SYSTEM	\$515.08	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0007) due to user stottt1 overridding Payment Estimate Exception 3 on the current Payment Estimate.
					3	Sep 16, 2022	SYSTEM	(\$515.08)	
								\$0.00	
			Material - Tot					\$0.00	
	0300 -	Total						\$0.00	
	0310	PROTECTIVE COATING -	Material		2	Sep 2, 2022	SYSTEM	\$9,000.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0008) due to user turnep3 overridding Payment
		33.11110-							(2500) and to add tamopo overridding raymont



Project	Line	Description	Adjustment Type	Other Adjustment Type	Est. Number	Created Date	Created By	Amount	Remarks
J9S3396	0310	CONCRETE BENTS	Material						Estimate Exception 8 on the current Payment Estimate.
		AND			2	Sep 2, 2022	SYSTEM	(\$9,000.00)	
					3	Sep 16, 2022	SYSTEM	\$9,000.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0008) due to user stottt1 overridding Payment Estimate Exception 4 on the current Payment Estimate.
					3	Sep 16, 2022	SYSTEM	(\$9,000.00)	Estimate Estapation 1 of the stationary alphanet Estimate.
					4	Oct 3, 2022	SYSTEM	\$9,000.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0012) due to user thomar1 overridding Payment Estimate Exception 9 on the current Payment Estimate.
					4	Oct 3, 2022	SYSTEM	(\$9,000.00)	
					5	Oct 17, 2022	SYSTEM	\$9,000.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0014) due to user thomar1 overridding Payment Estimate Exception 16 on the current Payment Estimate.
					5	Oct 17, 2022	SYSTEM	(\$9,000.00)	
				- Total				\$0.00	
			Material - Tot					\$0.00	
	0310 -	Total						\$0.00	
	0320	FAB. STRUCT. LOW ALLOY STEEL(IBM)A709,50	Construction Stockpile		3	Sep 16, 2022	SYSTEM	(\$52,600.00)	Payment Estimate Item Adjustment generated Stockpile Transaction
				- Total				(\$52,600.00)	
			Construction	Stockpile - T	otal			(\$52,600.00)	
			Construction Stockpile STMI		1	Jun 30, 2022	SYSTEM	\$52,600.00	Payment Estimate Item Adjustment generated Stockpile Transaction
			OTIVII	- Total				\$52,600.00	
			Construction	n Stockpile STMI - Total				\$52,600.00	
			Material		3	Sep 16, 2022	SYSTEM	\$62,338.31	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0002) due to user stottt1 overridding Payment Estimate Exception 5 on the current Payment Estimate.
					3	Sep 16, 2022	SYSTEM	(\$62,338.31)	
					4	Oct 3, 2022	SYSTEM	\$62,338.31	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0007) due to user thomar1 overridding Payment Estimate Exception 10 on the current Payment Estimate.
					4	Oct 3, 2022	SYSTEM	(\$62,338.31)	
					5	Oct 17, 2022	SYSTEM	\$62,338.31	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0009) due to user thomar1 overridding Payment Estimate Exception 17 on the current Payment Estimate.
					5	Oct 17, 2022	SYSTEM	(\$62,338.31)	
				- Total		\$0.00			
			Material - Tot	al				\$0.00	
	0320 -							\$0.00	
	0330	SLAB DRAIN	Construction Stockpile		4	Oct 3, 2022	SYSTEM	(\$2,076.00)	Payment Estimate Item Adjustment generated Stockpile Transaction
				- Total				(\$2,076.00)	
			Construction	Stockpile - 1		h 00	OVOTEL	(\$2,076.00)	Demonstration to the Adjustment are at 100 to 100.
			Construction Stockpile STMI		1	Jun 30, 2022	SYSTEM	\$2,076.00	Payment Estimate Item Adjustment generated Stockpile Transaction
				- Total Stockpile STMI - Total				\$2,076.00	
				Stockpile S1	MI - Total	Oct 3,	SYSTEM	\$2,076.00 \$5,215.19	This adjustment offsets the original system-generated Material Payment
			Material		*	2022	SISIEW	φυ,∠ 10. 19	Estimate Item Adjustment (0008) due to user thomar1 overridding Payment Estimate Exception 11 on the current Payment Estimate.
					4	Oct 3, 2022	SYSTEM	(\$5,215.19)	
				- Total				\$0.00	
			Material - Tot	al				\$0.00	





Estimate Exception 18 on the current Payment Estimate.	Project	Line	Description	Adjustment Type	Other Adjustment Type	Est. Number	Created Date	Created By	Amount	Remarks	
STRUCTURAL CONSTRUCTION Construction Stockpile - Total Construction Stockpile - Total Construction Stockpile - Total Stockpile - Total - Stockpile - Total	J9S3396	0330 -	Total						\$0.00		
CONSTRUCTION Construction Stockpiles Total (\$9.203.08)		0340	STRUCTURAL			5		SYSTEM	(\$9,203.08)	Payment Estimate Item Adjustment generated Stockpile Transaction	
Construction 1 3un 30 2022 SYSTEM \$9,203.08 Payment Estimate Item Adjustment generated Stockpile Transaction 1 3un 30 2022 SYSTEM \$9,203.08					- Total				(\$9,203.08)		
Stockpile 2022				Construction	Stockpile - 1	Гotal			(\$9,203.08)		
Construction Stockpile STMI - Total \$9,203.08				Stockpile		1		SYSTEM	\$9,203.08	Payment Estimate Item Adjustment generated Stockpile Transaction	
Material				SIMI	- Total				\$9,203.08		
2022 System Estimate tem Adjustment (0010) due to user thomart overridding Payme				Construction	Stockpile S	TMI - Tota			\$9,203.08		
2022 \$0.00 -Total				Material		5		SYSTEM	\$26,817.96	Estimate Item Adjustment (0010) due to user thomar1 overridding Payment	
Material - Total \$0.00						5		SYSTEM	(\$26,817.96)		
Name					- Total				\$0.00		
Continue				Material - Tot	- Fotal				\$0.00		
Sep 16, SySTEM Sy		0340 -	Total								
2022 4		0350	NEOPRENE	E		3		SYSTEM	\$3,374.08	Estimate Item Adjustment (0003) due to user stottt1 overridding Payment	
2022 Estimate Item Adjustment (0009) due to user thomar1 overridding Payme Estimate Exception 12 on the current Payment Estimate.						3		SYSTEM	(\$3,374.08)		
Cold						4		SYSTEM	\$3,374.08	Estimate Item Adjustment (0009) due to user thomar1 overridding Payment	
Material - Total \$0.00						4		SYSTEM	(\$3,374.08)		
Solution Solution					- Total				\$0.00		
Data				Material - Tot	tal				\$0.00		
NEOPRENE BEARING PAD ASSEMBLY Sep 16, 2022 System (\$5,873.39)		0350 -	- Total						\$0.00		
3 Sep 16, 2022 4 Oct 3, 2022 5 SYSTEM \$5,873.39 This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0010) due to user thomar1 overridding Payme Estimate Exception 13 on the current Payment Estimate. - Total		0360	NEOPRENE BEARING PAD			3		SYSTEM	\$5,873.39	Estimate Item Adjustment (0004) due to user stottt1 overridding Payment	
2022 Estimate Item Adjustment (0010) due to user thomar1 overridding Payme Estimate Exception 13 on the current Payment Estimate. 4 Oct 3, 2022 \$\text{SYSTEM}\$ (\$5,873.39) - Total \$0.00 Material - Total \$0.00 0360 - Total \$0.00						3		SYSTEM	(\$5,873.39)		
2022							4		SYSTEM	\$5,873.39	Estimate Item Adjustment (0010) due to user thomar1 overridding Payment
Material - Total \$0.00 0360 - Total \$0.00						4		SYSTEM	(\$5,873.39)		
0360 - Total \$0.00					- Total				\$0.00		
				Material - Tot	tal				\$0.00		
		0360	Total						\$0.00		
J9S3396 - Total \$2,333.94	J9S3396	Total							\$2,333.94		
Overall - Total \$2,333.94	Overall -	Total							\$2,333.94		